34

35

36

37

38

39

40

41

42

43

44

45

46

(a+ b)Y —2(a+b)+1

. I:a+b_1+M]

(@a+by—1 a+b—1

xy+y+ax+a_( 1 1 )
3y’-2ay-a® "\y-a 3y+a

xy+y—2ax—2a_( 1 1 )
2y*+ay-a? “\y+a 2y-a/

1

( 1 1 )64b6ﬁ1 ( 1 1 ) 645 —
8b%+1 2b+1/) 2b%2-1 8b°—1 2b-1

[ X +1 (x+1)(a—1)}_ x% -1
[x—1 (x—1)a-2)] ax—-2x—a+2 "

F(x+ a’ )(X 2ax—a2) a(3x - 5a) }_x2—9a2
x-al’ X+a (x—2a)(x-a)| x?-4a%"

Gave =) (s sy =) ] oo
\x2y+1 7 Py —1) \x?y+1 x2y—1,7 )" )

2b2+b

e Rl TRt R R
a’y+y ay-y/ \aly+y  ay_y (a+12—-a "’

1 1 4 a+y a-y \ fa y
?"'—2_ 2.2 z_ -t 3 S\, T L
y a+y a‘—ay a“+ay y a
[2(a*— 1) +3(a+1) azﬁ1—3(a—1)}_ a’+1
a’+2a+1 a’—-2a+1 | 1-a2"

’(y X x+y)_y3—xy2+x2y+l+1} y?
\x vy x-y/"  x?-xy Yy ¥y

( 1 N 1 ) X 3a+5
I\2ax-2x+3a—-3  2ax—-2x-3a+3/ 4x2-9 a2_1

(V-1 (y+W-y  1-y ]( 1 )
Ly*-8 " (y+2° -2y y'-4y+4]’ 2-y/

[ 1 1
e-ra) (i) -t
X y+2 y+3 yo+4y+ 4
[3y2+6y+6+ 2+y  y ]
3(y*-1) 3y+3 y-1]

J

fa+b+1]

.
ETRY N B



47

48

49

50

51

52

53

54

55

1 1

b-5 b-4 2bx+2by-9x -9y
1 1 : x2_y? - [x —y]
b-5 b-4
5 1 2
X°—2+— 1+—
X2 x+1 4} X x+1}
2 2 IV
X —— 1+-—/ 1-— X
X
( X y )(a+1+a—1)
3ay+y 3ax+x/\x+y x-y [ 2
a 1 1 ' I
-1 |
y x a
X 1 1 ( x? 2)
2 x+1 ) @l ) [1]
1-x x—-1
1 1+4a?
1+_ 2 __-I-_i
L 2a a + 4a 1
12a {1 1 | " aa241 1 3a
A+ 2+4a%+ e
2 " aa 432
a L at2 _az+3a+a—1 ca’-2a+1 5
1 1 " a-1 a-3|  a?-9 [l
1+ 1+
L -1 a+1
3y? 2y*(4y® - 5) (1 1 ) y
2 2 ‘\y v-3 3y
14— 3y +3 y y-3 3-y]
L vy —1
a+b
a-2b ( b 2b ) 2b o
a-b "\2a+b a-2b 3a+4b
T+ —rr
a+2b
2, b
b 2a ( 1 N 1 N 2b ) i___i;?
2a b 2a+b  2a-b  4a’-p? i 2a+ b

b 2a



56

y+2 |,
y

x? X1 ). a®x?—2x%+1 1
ax+1 ax—1 a%*-1

2

58

' 2 + 2 .
a‘x—ax+a-—1 a’x+ax—a-1

0]

4
57 M(Jz_; o )* 2 | 1+7 2oy ]
3y—-6 y' +7  y+3 - 4

|

a
x? a’ x*+2ax+a? 352 1‘?
59 + ' + - 5
1_ a X X —2a x+2a 1_4ar
X+a x+a P
[x — 2a]
2 y y+1 y y+2 1 1
60 -— . — -— + 5 . T
il o)
o _b'+b2_+ "), |2ab-20+a-1 8b
4+i+i 2+l 4ab+4b 2ab+2b+a+1’
b b b
|46
2b+1
a’+b%+2ab-9
a’—p?—6a+9 3(a—-b-3) a+h-3 9 ]
62 Pl — + . . e
a“+ab-3a a-b+3 4a a—b+3
3a®—9a —3ab
( x+2 N ) ( x 1 ) 3
3_3x2 " 2x-2 @ 3x+3 +x¥  14+x 2x -2 [1}
63 )
(X—1+ 4 )x—2 5
1—-x/ x—3
64 ( ! + ! + 2 ) I1+2(1 1) (1 +X)
. LI B XA
ax—2a ax+2a x*-4 x+a a x+a | al
2x




£48

&

1 1 _(a2—2a+1 32¢2a+1)
' a a-2 '

1+(ax+bx—1 ax—bx~1)_( X X )
ax + bx ax—bx / \a+b a-b

1 1
ol
X x |/
( 1 N 1 )_ 432 41 N a+1
4a’+4a+1  4a’—4a+1/ 16a*-8a’+1 a-1

3a+5+
a—t

1 1 1 1
[yz—x2—1+2x__yz—x2—1—2x]'(y+x—1_—y+x+1)

X
(y—xy-1
1 1 :
a°—4b*+12b-9 a’+4b>—9+4ab 4
a’—4b’ "a+2b-3°
a’+9—-4b%+6a
Xx+1+
x -1
x—1- 1 1
X 1 :[ﬂx—1}—2x— 1].
x—1+ X-
x—-1
1—
Xx—=1
b?+1 b2-2
2b+1-— )@b—1— ):b3—1
( b-1 b+1 ( )
b+1 b -b+1
b—-1 b?-2b+1
(2 x+1+_ﬁu4)_( 1, x+2 2x? -~ x -2 )
X x? x2 JAx—1 x?-2x+1 x*_3x2+3x-1
132 1 3
LA N PN )
( x)( 2x 2x+4

(x - Dx+2)

Wx+1

bk
a’—4p°

|

[1—x]

(1]

|




1 xz x2 1+ x2 1_x
X ’ X+1 X x?
X+ 1 x=1
1 1 1 1
1- 2- ol |
1 1 R 3
_ 1+ T-—
x—1 x—=1 X

b+ )1+ ! +b ! )1 ! + 1
X —1 1 x+1 1 (x* =1y

(1+ Xf1)(1+ xi1):[2(x+1)2~(x+1)(X+3)]

1 Y 1 y
y'+2y y+2 _ y*+3y y+3 | 1-y° 2-y
: - : 7+ .
1 R y 1 y 1+y y°+5y+6

+
y:-2y y-2 y?-3y y-3

Y y 2 2,2 1 2
3 - )" — Tvad T v_1
(y +1 y3—1)[(y AN TSR

1 1(1 1)(y y)
— —3+3:2 _2
y+1 y—1 W1 vy 1/ \y2hy+1 y2 o yad

2
+1
+2y—‘-
y —4y+4
1
2 1 2 pi-1| Py
1 - 1] b24+1 1
b+— b+— b+~
b b b




u—1f—u+1f_(x % x*
ve (X1 —(x+ ) " x) 3x2-1

x?
( 1 1 )( 1 1 ) 2"
3x2—1 3x2+1/ \3x2+1 x2+1

( b? b2+4b+4)_( b? b2+1+2b) (b—1>2
b?2—4b+4 b? "\b%Z+1-2b b? b-2

(1+ ! )2(1+' 4b* )
b-2 2b% -1

0]

~F

LA "5}
| 85— 1
) el ()
b® &%/ a‘*+a’b*+b* \a b ; ’
) a’+b?—a’b®-2ab ( b) (T }
<1+ —):b la—b+ab
ab
1 1 ] y?
X+y X—y __ (x+yP | 2(y+1)
1+ 1 2y +1 1 x2+y%2—1+2xy
X+y X—y (x+y)
e 1 1
+
1 :( — t 2{ )
X—2 XxX°—4x+4 | :
Kby
x" ym y4m_x4n
(xn_ym_xn+yrn) xany3m e
83 . I A
Xn_ym_-l 1 1 -1 ; X2n+y2m j
1_x2n+2xnym__y2m : ny3m - x3nym

4 1 1 2a™
a2n_an_2:(aZn_3an+2+aZn_an_2_am_a2n+m)
a"+1 - 232”—3a”+1 an an+m

2a" - 2 (aa"—3a2"+3a"—1 T a?"—2a"+1 _a’"—a””")




